Adjusting units HMXY FESTO

e Permits easy adjustment

o \Wide choice of mounting options

2018/05 - Subject to change => Internet: www.festo.com/catalog/... 1



Adjusting units HMXY

Key features

At a glance
Mounting options

Combination with drives and grippers

e Precision adjusting unitin Xand Y
directions

o Allows easy adjustment of grippers
to obtain precise gripping position

o Versatile precision interfaces using
centring sleeves

Mounting on the basic components =» page 5

Adapter kits
e Direct mounting
e Dovetail mounting

Adjusting unit HMXY
e Interface between basic component
and attachment component

Adapter kits
e Direct mounting
e Dovetail mounting

Mini slide
SLT

Mounting the attachment components =» page 6

Mini slide

=> Internet: www.festo.com/catalogy/...

Mini slide
DGSL SLT

FESTO
o Wide choice of mounting options:
- Direct mounting
- Dovetail mounting
Mini slide
DGSL
S
1 - ifﬁ" ’
a‘;,
e
1 - iffr""
.a‘;,l
¥ -5
Gripper
DHPS, DHRS, DHDS, DHWS,
HGDT, HGDD, HGPP

Subject to change - 2018/05



Adjusting units HM

Technical data

Adjusting unit

General technical data

XY

HMXY-3

FESTO

HMXY-1 HMXY-3
Positioning distance y [mm] 7.5 7.5
z [mm] 7.5 7.5
Max. static characteristic load ~ Forces
values Fy [N] 50 160
= Fig. 1 F, N 50 160
Torques
My [Nm] 1.4 20
My [Nm] 1.4 20
M, [Nm] 1.4 20
Mass moment of inertia Jx  [kem2x1074] | 0.499 8.650
= Fig. 2 Jy  [kem2x1074] | 0361 5.121
J,  [kgm?x1074] | 0.361 5.121
Weight [g] 155 2324
Ambient temperature [°q 5...60
Corrosion resistance class CRCY 2
Material Anodised aluminium
Note on materials Free of copper and PTFE
1)  Corrosion resistance class CRC 2 to Festo standard FN 940070

Moderate corrosion stress. Indoor applications in which condensation may occur. External visible parts with primarily decorative requirements for the surface and which are in direct contact with the ambient atmo-

sphere typical for industrial applications.

Max. permissible static characteristic load values

§

Fig. 1

2018/05 - Subject to change

Mass moment of inertia
Fig. 2

=> Internet: www.festo.com/catalogy/...




Adjusting units HMXY FESTO

Technical data

Dimensions Download CAD data =» www.festo.com
HMXY-1
.21
3 19 1 A2 R/@
| T 5
5 N &
7( M4 || \_/
SEIRCE AREE=c o 1 SEEE
< L " (©)
= 5\ o «
4 ./I 1 (S
1 n N
15 2001 6 bx \ M5
2 ~[2 3
2] 5 3601 32.4 44 -
Locking screw Centring hole/slot *  For M4 and M5 threads
Adjusting screw For centring sleeve ZBH-9
(2 included in the scope of
delivery)

HMXY-3

|
\ o ®
‘ /El
I © |
| @ z | ®
R S £ d ] =38 __ I R 7~ I 1
©» e BRI T Gl e
} o ) o \
31 N
\ ] A %
: 12
© oee @ ®
80401 2.1 60404
100 +01 12 120"
For centring sleeve ZBH-9 For centring sleeve ZBH-15
(2 included in the scope of (2 included in the scope of
delivery) delivery)

Ordering data
Part No.  Type

187582  HMXY-1

526030  HMXY-3

4 => Internet: www.festo.com/catalogy/... Subject to change - 2018/05




Adjusting units HMXY FESTO

Technical data — Mounting on the basic components

Mounting on mini slide SLT

Material:
Adapter kit HAPG: Wrought aluminium alloy
Free of copper and PTFE

Direct mounting

Dimensions and ordering data Download CAD data =» www.festo.com
Direct mounting
L1 B1
? i
@ 1T 9
D2
N 3 o 5=
! Mini slide SLT

m g Adjusting unit HMXY

AR : Adapter kit HAPG
Basic component Adjusting unit B1 H1 L1 Screws Screws Part No.  Type

D1 D2

SLT-16 HMXY-1 36 8 65 M5x10 M5x12 191266  HAPG-48
SLT-20 44 10 80 M5x12 M5x14 191268 HAPG-50
SLT-25 HMXY-1/3 44 12 91 Mé6x16 M5x14 191270  HAPG-52

2018/05 - Subject to change => Internet: www.festo.com/catalogy/...




Adjusting units HMXY

Technical data — Mounting the attachment components

Mounting on mini slide DGSL

Material:
Adapter kit HMSV:

Wrought aluminium alloy

Free of copper and PTFE

Dimensions and ordering data

Direct mounting

29000 i A

229022950

{f"ﬁ‘*

DGSL

Direct mounting

FESTO

Download CAD data =» www.festo.com

DZ T T
B1
\
J =
/) =
N
N o905
FVANYN
NN
; ©
m Mini slide DGSL
Adjusting unit HMXY
Adapter kit HMSV
Attachment component Adjusting unit B1 D1 D2 H1 L1 PartNo.  Type
DGSL-4/6 HMXY-1 33.6 M3 M5 10 87 548787 HMSV-57
DGSL-8/10 HMXY-1 33.6 M4 M5 10 87
DGSL-12/16 HMXY-1 33.6 M5 M5 10 70 548782 HMSV-52
DGSL-20/25 HMXY-3 40 Mé M5 10 100 548929 HMSV-60
6 => Internet: www.festo.com/catalogy/... Subject to change - 2018/05




Adjusting units HMXY

Technical data - Mounting the attachment components

Mounting on mini slide SLT

Material:
Adapter kit HMSV: Wrought aluminium alloy
Free of copper and PTFE

Direct mounting

Dimensions and ordering data
Direct mounting

Dovetail mounting

FESTO

Download CAD data =» www.festo.com

S 2
2e <] 7]
N\
1
- Mini slide SLT
D1 Adjusting unit HMXY
Attachment component Adjusting unit Screws?)
D1
SLT-16 HMXY-1 2x M5x38
1)  The screws listed are not included in the scope of delivery of the adjusting unit.
Dovetail mounting
B2
B1
-3 (2]
& NN
5| 2E
T 0]
1 -
s1® ‘ %'@ Mini slide SLT
‘ ——1] Adjusting unit HMXY
* DOD Adapter kit HMSV
Attachment component Adjusting unit B1 B2 H1 Screws PartNo.  Type
D2
SLT-6 HMXY-1/3 40 51 22 M3x20 178329 HMSV-34
SLT-10 40 51 22 M4x30 178330 HMSV-35
SLT-16 50 51 24 Mé6x25 178331 HMSV-36
SLT-20 80 51 26 Mé6x25 178332  HMSV-37
SLT-25 HMXY-3 80 51 26 M8x25

2018/05 - Subject to change

=> Internet: www.festo.com/catalogy/...




Adjusting units HMXY

Technical data — Mounting the attachment components

Mounting on gripper DHDS, DHPS, DHRS, DHWS
Material:
Adapter kit HAPG:
Wrought aluminium alloy
Free of copper and PTFE

FESTO

DHDS
DHPS
DHRS
DHWS
Direct mounting Dovetail mounting
Dimensions and ordering data Download CAD data =» www.festo.com
Direct mounting Dovetail mounting
3] p1 D2 E2 ‘
T [ T ‘ : g 2]
i ‘ = 2
(el | _ ? é&ﬁ So =
: o I 11— ET
—(®) @@ © ® EL El
| 12 L11 |
— | B
(1]
] P &
L I 3
BT 81
B2
Gripper Gripper
Adjusting unit HMXY Adjusting unit HMXY
Adapter kit HAPG Adapter kit HMSV
Attachment component Adjusting unit B1 B2 H1 L1 Screws Screws PartNo.  Type
D1 D2
Direct mounting
DHPS-06, DHRS-10, HMXY-1 M3x14 M4x16 192706  HAPG-37-S1
DHWS-10 - - 42 50
DHDS-16 - - 42 50 M3x20 M4x16 193921  HAPG-36-S3
DHPS-06, DHRS-16, M3x14 M4x16 192705 HAPG-36-S1
DHWS-16 B B 42 %0
DHPS-16, DHRS-25, ~ ~ 0 50 Max14 M4x16 193922 HAPG-37-S4
DHWS-25
Dovetail mounting
DHPS-10, DHRS-16, HMXY-1/3 40 51 o ~ ~ ~ 177767  HMSV-27
DHWS-16
DHPS-16, DHRS-25, 40 51 o ~ ~ ~ 177768  HMSV-28
DHWS-25
DHPS-25, DHRS-32, 177769  HMSV-29
DHWS-32 50 51 24 - - -
DHDS-32 HMXY-3 50 51 22 - - - 178212  HMSV-32
DHPS-35, DHRS-40, 177770  HMSV-30
DHWS-40 60 1 28 - - -
DHDS-50 70 51 24 - - - 178213  HMSV-33

8 => Internet: www.festo.com/catalogy/...

Subject to change - 2018/05




Adjusting units HMXY FESTO

Technical data - Mounting the attachment components

Mounting on parallel gripper HGPP

Material: \
Adapter kit HAVB, HMSV, HAPG: \
Wrought aluminium alloy ‘\ NHMXY
Free of copper and PTFE %
HMSV
Dovetail mounting
Dimensions and ordering data Download CAD data =» www.festo.com
Dovetail mounting
B2
B1
&
[ | D1
1 |
‘ |
EL E Parallel gripper HGPP
Adjusting unit HMXY
lg: Adapter kit HMSV, HAVB
2 Adapter kit HAPG
Attachment component Adjusting unit B1 B2 H1 Screws PartNo.  Type Part No.  Type
D1
HGPP-12 HMXY-1 44 51 27.5 M5x30 163239 HAVB-3 191262  HAPG-44
HMXY-3 44 51 30 M5x30 177649  HMSV-3 191262  HAPG-44
HGPP-16 HMXY-1 44 51 27.5 M5x30 163239 HAVB-3 191263  HAPG-45
HMXY-3 44 51 30 M5x30 177649  HMSV-3 191263  HAPG-45
HGPP-20 HMXY-1 50 51 19.5 M5x30 163239 HAVB-3 191265  HAPG-47
HMXY-3 50 51 22 M5x30 177649  HMSV-3 191265  HAPG-47
HGPP-25 HMXY-1 60 51 25.5 M5x40 163239  HAVB-3 529019  HAPG-59
HMXY-3 60 51 28 M5x40 177649  HMSV-3 529019  HAPG-59
HGPP-32 HMXY-3 60 51 28 M5x50 177653  HMSV-7 529020 HAPG-61

2018/05 - Subject to change => Internet: www.festo.com/catalogy/... 9




Adjusting units HMXY

Technical data — Mounting the attachment components

Mounting on three-point gripper HGDT, HGDD
Material:
Adapter kit HAPG:
Wrought aluminium alloy
Free of copper and PTFE

Dimensions and ordering data
Direct mounting

Direct mounting

FESTO

Download CAD data =» www.festo.com

\ |
T
N . ® o
N A i @
2 /TJ Three-point gripper
''''''' 3 Adjusting unit HMXY
D1 L. B1 Adapter kit HMSV
Attachment component Adjusting unit B1 D1 D2 L1 PartNo.  Type
HGDT-25 HMXY-1 48 M3 M5 10 542439  HAPG-SD2-32
HGDT-35, HGDD-35 58 M3 M5 11 542436 HAPG-94

10 => Internet: www.festo.com/catalogy/...

Subject to change - 2018/05



Festo - Your Partner in Automation

Festo Inc.

5300 Explorer Drive
Mississauga, ON L4W 5G4
Canada

Festo Customer Interaction Center
Tel: 1877 4633786

Fax: 18773933786

Email: customer.service.ca@festo.com

Connect with us

v ]ink-

www.festo.com/socialmedia

2 | Festo Pneumatic

Av. Ceylan 3,

Col. Tequesquindhuac
54020 Tlalnepantla,
Estado de México

Multinational Contact Center
01 800337 8669

ventas.mexico@festo.com

1]
3]
(4]
3 | Festo Corporation 4 | Regional Service Center

1377 Motor Parkway 7777 Columbia Road

Suite 310 Mason, OH 45040

Islandia, NY 11749

Festo Customer Interaction Center
1800 993 3786
1800 963 3786
customer.service.us@festo.com
)
=
©
<
o
2
k=]
2
5
www.festo.com 0



	Adjusting units HMXY
	Key features
	Technical data
	technical data
	Dimensions
	Ordering data
	Mounting on mini slide SLT
	Dimensions


	ordering data
	Mounting the attachment components
	Mounting on mini slide DGSL
	Dimensions

	Mounting on mini slide SLT
	Dimensions

	Mounting on gripper DHDS, DHPS, DHRS, DHWS
	Dimensions

	Mounting on parallel gripper HGPP
	Dimensions

	Mounting on three-point gripper HGDT, HGDD
	Dimensions


	ordering data


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (Apple RGB)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 120
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 120
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (U.S. Web Coated \(SWOP\) v2)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks true
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice




